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399d0bg930m0 Ho3b39d0L 5650 BNMHO 4969GM0EHMGO:
Mod - 65300 goymaol 3999y (modulo)

Matlab:
mod(23,5)=3

13L9Y3M-09dmnbz93000 MHo3b3z9d0:

N = mod(11*N,31)
11, 28, 29, 9, 6, 4, 13, 19, 23, 5 .

356 3-00¢ Mol 80b0ds&o bESbsdEo:
Xp41 = mod (231 —1,16807x;)

x | 2147483647 = (0,1)

BoBsdol 083egdgbEegos (ver.d: 77),
©o9b: 212 glig3c0m 8990b3930000 LoEO©Y 396FGMOGBOL ©sFYgdSIDY.
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Buffon 1770, [ 2l /2d ]

estimate of pi
| rfn=2/pi|

ogH ... e e e _
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0O35¢090d:

Suppose we have a random number generator which generates random numbers uni-

formly distributed in [-1,1]. To generate random points in the unit circle generate
. @ @ .

a pair of random numbers x..,y,. If @7 + vy, < 1, then accept (x,,y, ); otherwise

discard (x,, y,) and generate new random numbers.

(a) Use, e.g., the function rand in MATLAB to generate points in the unit circle. Plot

the accepted points.

(b) What is the probability that a pair of points is discarded? Use the observed

number of discarded points in a run of 1000 points to approximate the value of .
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063736905 3mb@g 35Mm d900Mm©POm

N 99dmbggzomo Gogbgo. . .
N1 - a09303L bgz00,; .

Int =S * Ny/N; *

»Hit and miss method“

f(x) = { 1 if % is inside the volume

0 elsewhere

N
Z f(xi)
i=1

V =V. N
36905 Mds:
1 296%m30wgd0sbo 0b@gaMowo Lodlmbol {glood: e~N 4
d 296%mdogd0sb0 0bEgaMsco Lodbmbol faloo: e~N 4
d 296%Mm3ogd0s60 06EJAMs0 FmbEg 39Mm 0bEgyMgdom: e~N 172

ROOToO5 B3390 ML 253myggbgdol M3oModglcmds: d>8

0o650:

33900598000 06930905 U g56DmBowgdsdo: Nd M39M5309;
909689356 0639a®9ds d g96%mBowwgdsdo: N m396s309;
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3-9 0oL 0b@gMowo: Int = f ff f(x,y,z)dxdydz

06@®936905 33500 5FHMHO0:
Int = AVE XY f(xi, 95 2)
AV = AxAyAz

063930905 dmb@g 39Mm dgmmEoo:

Int = sz V)

0505056BM0900560 9GMMNY35MM3560 dool s IMbEY 39Om Jdmbzg3000 FgMHEHOEgdolL 36MMmgd30900
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€0535¢09do:
1 : 20 N .
1. 259mmgzsegom 06@EgacMoeo: A= 2 ffy: e lehp el 6y - y )/ 2] drd1

=

3.) 359mM35¢gm 063900 Modgbxg®Ig BoJuoMgdmeo dgdmbggzomo MHoEbgzgdol 9gdmbggzsdo.
0303900 259MM300 BLoEOEOL Bsdwswm 3603369 Mds.

3.) bsBYm 0bE Mool 3609369c0mdOL 453mYyg69deo d9dmbgzg3000 MHOEb3xdOL MoMEIbmdsby
©53Mm300090v9ds M539bxg®ag.

2. 359mm3z5wgm 06@gacogdo 6.1, 6.3. F9500M9m 3350M5GIMGd0L s dMbE -390 ™ 06EJAM9dOL
390030l EOHMYdO.
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Importance sampling

d9dbg930m0 Ho3b39d0L gobsfoergdols dgommeo: sampling;
Simple sampling - 09650560 gobsffoergds;

dmb®9 39Mwm 39mMEJOoL JOMOMSPO 3OMdWGIs:  BHMSR® (33090 s 39330 B+96(30900;

39d0bg9300m0 MH03b39d0L 2sbsfogdols 3mbjsos f(x):

| fix)

53636 §(X) 376ggos:

©YO0M0 5650 BMHO 06F9M90O TMbI3055 BMAGELsE 399860 9dMMBIdMEO B3MGDs.

M), o1z = [ 1)

g(x a glx)

b b
I= [ f(z)de :[ dG(z)

Logsg: G(x) = [T glx)dz

(39S 5 LEBLZOHIBOL oM5Jdbo: r=G(x)

G(b) £(—1(
I:/ G (r),

Ga) 9(G71(r))

oago F@)19(r) as6m yewago 3abisoss, 9.0. 3abdg otem 0bBga®Ids 3309wl IBGM ALY
39092, 96 03039 LOBYLBEOL JoLOMYOS TglsdEgdgEos HaMEHOEGOOL MoMmEIbMdOL dqdi0Mgds: (N).
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Bm®HdoMgd0L 53bJzool 98mygbgdol 3oMmmdgdo:

1. 565¢00BmEms 0b@gyMgdoo: r = G(x)
2. 56LgdmdL d906mbqdrIemo g3mdiEos: X= G_l(l’)
3525¢0m0:

1 9
= / e " dr
Jo

6306900l gbdios:  EXP(-X)

e—1

1
_ 1 1
/e dr=—4+1=1——-=
0 e e =

e e
r)] =
g(z) -1
TeTe 1—e Me
Go) = [ —Sdn = ( )
n e—1 e— 1
3906mbgd o g3mbdsoo:
-1 e —1
G (u)=—log|1—u
e
3525¢000:
63030560 BbJ30s N | \

AN

g(x) = P1(x) + Pa(x)

©53b3oMg 134964305 - oMol 3630900l K sdo:

2 I
erf(z) = El et dt.

erf(x), erfinv(x)



